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/* 0000 (stack)0O0 */ break;
#include <stdio.h> case 3:
while ( EOF != STKget (&dat) ){ /* 00O pop */

#define STKMax 5
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void STKInit ( void ); /* 00ooooog */
int STKput ( int );
int STKget ( int *);
int Sbuf [STKMax] ; /* 0000 */
int Spos;
int main ( void ) /* 0000 mainOO */
{
int job, end=0, dat, stat;
STKInit (); /* 000000000 */
do {
printf ("O0:1 0000:2 O00:3 -->>");
scanf ("%d", &job );
switch ( job ){
case 1:
printf (" 0000000 --->>");
scanf ("$d", &dat );
stat = STKput ( dat ); /% push 00 */
if ( stat == EOF ){
printf (" 0000000000000O0O0O0OOY¥n");
} else {
printf (" 00000OO0OOCOOM;
printf (" 000000 %4 OO0O0O¥n", STKMax-stat );
}
break;
case 2:
stat = STKget ( &dat ); /* pop OO */
if ( stat == EOF ){
printf (" 0000000000000 O0O0O0O¥a");
} else {
printf (" 000000000000O00O0O %4 00", dat );
printf (" 000000 %4 OO00O0OO¥n", STKMax-stat );

printf (0000000000000 %4 ¥n", dat );

end = 1;
break;
default:
printf ("0000000¥n");
}
} while ( end == 0 );
return 0;

}

/* 000000000000 =*/
void STKInit (void)

{

Spos = STKMax-1; /* 000000ooog
}
/*+ 000000000000000 */
int STKput ( int dat ) /* D0D000000
{
if ( Spos < 0 ){ /+ 0000000000
return EOF; /* 00000000
}
Sbuf [Spos--] = dat; /* 000000000
return Spos+l; /* 0000oooo

}

/* 0000000000D0O0DO0ODO */

int STKget ( int *pi ) /* 0000000000
if ( Spos >= STKMax-1 ) { /* 0000000000
return EOF; /* 00000
}
*pi = Sbuf [++Spos]; /* 0o0oooa
return Spos; /* 00000000

}
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/* 0000 (stack)0O0O -2 */
#include <stdio.h>

#define STKMax 5

void STKinit2 ( void );
int STKput2 ( int );
int STKget2 ( int *);
int STKcheck ( void );

int Sbuf [STKMax] ;
int Spos;

/* 0000000wain00O */
int main ( void )

{

int job, end=0, dat, stat;

STKinit2 ();
do {

printf ("O0:1 0000:2 0O0:3

scanf ("%d", &job );
switch ( job ){

/* 0000000

/* 0000

/+* 000O00O00ooo

-->>");

case 1:
printf (v 0000000 --->>");
scanf ("%d", &dat );
stat = STKput2 ( dat ); /* push
if ( stat == EOF ){
printf (" O000000000O000O0O0O0OOOY¥n");
} else {
printf (" O000O0O0O0OOO");
printf (v 00000 sd4 000O0O000O¥n", STKcheck()
}
break;
case 2:
stat = STKget2 ( &dat ); /* pop
if ( stat == EOF ){
printf (" 0000000000000 O0O0OOY¥n");
} else {
printf (* 000000000OOO0ODOOO s4a OO",
printf (" 00000 sd4d 000O000O0O¥n", STKcheck()
}
break;
case 3:

*/

*/

*/

*/

*/

dat ) ;

)i

while ( EOF != STKget2 (&dat)){ /* UOUO pop */
printf ("0000000000000 %4 ¥n", dat );
end = 1;
break;
default:
printf ("0000000¥n");
} while ( end == 0 );
return 0;
}
/* O0O0O000OO0O0Oooooo */
void STKinit2 (void)
{
Spos = 0; /+ 0000000000 */
}
/* 000000O00O0DODOOO0OO0 */
int STKput2 ( int dat ) /* 00000ooo */
{
if ( Spos >= STKMax ) { /* 000000000 */
return EOF; /+ 00000000 */
}
Sbuf [Spos++] = dat; /+* 000000000 */
return Spos-1; /* 0000000 */
}
/* 0000D0000O00D0O0O0O0O00 */
int STKget2 ( int *pi ) /* 0000000000 */
if ( Spos <= 0 ){ /* 00000000 */
return EOF; /* 0000000 */
}
*pi = Sbuf[--Spos]; /+ 000000 */
return Spos+l; /* 0oooooo */
}
/* O0O0000OO0OO0O0OOOOOO0OO0 */
int STKcheck ( void )
{
return STKMax - Spos; /+ 00000000 */

}
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